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Question Number : 1 Question Id : 7150533367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement relating to ‘Language Acquisition Device’ put

forth by Noam Chomsky
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A device that evolves after birth due to interaction with peers and

others
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A software that aids in language development
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Ability to learn foreign languages
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Instinctive mental capacity that enables an infant to acquire and
produce language
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Question Number : 2 Question Id : 7150533368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Prashanth who could not get selected for university exchange programme
sald, ‘my professors do not like our area people, so they didn’t recommend
me’. The defense mechanism involved here 1z
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Options :

Rationalization
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Reaction Formation
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Question Number : 3 Question Id : 7150533369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
The method of Judvmg the same sample over prolonged period of time 1s
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Cross sequential study
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Experimental study
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Question Number : 4 Question Id : 7150533370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In teacher - centered paradigm
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Learners are co-creators in learning process
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Learners are viewed as passive recelvers
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Focus 15 on learner needs
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Question Number : 5 Question Id : 7150533371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A child learning to handle the cue balls on a bilhards board 1s using this

mode of representation as per Bruner’s theory
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Ieconic mode

Symbolic mode
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Pre—active mode

Question Number : 6 Question Id : 7150533372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A teacher is considering the learning styles of her students to introduce a

new concept. The phase of teaching here is
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Question Number : 7 Question Id : 7150533373 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following is the feature of non-directive counselling
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Counsellor centered
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Both client centered and counsellor centered
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May be chent centered or counsellor centered depending on the
problem
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Question Number : 8 Question Id : 7150533374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to Assessment of learning
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Comparison of performance of students within school. district and
nation is not possible
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Does not aim to reteach the concepts
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The test takes 1{}nqer time and held in a formal environment
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Question Number : 9 Question Id : 7150533375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per Right to Education Act, 2009, where there is no provision for

completion of elementary education a child shall have a right to seek transfer

to this school. for completion of his/her elementary education
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Sainik School
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A private school not receiving any kind of aid from the government to

meet 1ts eXpenses
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School owned by appropriate government

A R T T 2 o S :
S0 [2IE0é: iPesaaTmi: arhare

25

4.+

Question Number : 10 Question Id : 7150533376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per NCF. 2005, Arts Education must become both a tool and a subject

taught in everv school as a compulsory subject upto this class
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Class 6
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Class 10
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Question Number : 11 Question Id : 7150533377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In nature-nurture issue of development, the term ‘nature’ refers to
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Options :

Biological inheritance

Environmental experiences
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Social experiences

Question Number : 12 Question Id : 7150533378 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
As per the Principles of Development, in how many directions, the physical
and motor development occurs?

S S A T e AT < WO SN SUREY Lor g V gy |
S5 rmEee Se00, Fh6E snda Hed IS0 waih Bded” athitiod
= (=8

Options :

One direction
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Four directions
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Question Number : 13 Question Id : 7150533379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



According to Kohlberg's Moral Development. morality 1s externally controlled

at these levels.
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B)  Conventignal Level
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C)  Post conventional Level
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D) Universal Ethical Orientation level

Options :
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A & Birgd

C & D only

A & Conly
A& Cirgad

Question Number : 14 Question Id : 7150533380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



One of the following theories proposed that ‘make-believe play’ promotes
cognitive development
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Kohlberg's moral development theory
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Piaget's cognitive development theory
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Vygotsky's socio - cultural theory
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Question Number : 15 Question Id : 7150533381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A child who learnt the pronunciation of ‘but’, wrongly pronounced the word

‘put’. It 1z because of
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Zero transfer of learning
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Negative transfer of learning
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Bilateral transfer of learning
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Positive transfer of learning
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Question Number : 16 Question Id : 7150533382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following belongs to the cognitive domain
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Decision making skill
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Empathy slkill
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Question Number : 17 Question Id : 7150533383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The teaching-learning process involving hands-on experiences, exploratory

learning, experimentation, construction of own knowledge etc refers to:
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Mechanical learning
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Discovery learning

Question Number : 18 Question Id : 7150533384 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Maturation when accompanied with this leads to development
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Question Number : 19 Question Id : 7150533385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under the POCSO Act. the punishment for disclosing the name of the child

victim 1n the media 1s
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Imprisonment upto 3 months

S

050

dem

E'Ll
'QF'I\.
I""S..l

n:‘ln
RS

2. %

Imprisonment upto One year

So 3%

[
HiA

ol
\_-'.-'

FE’%I

3.¢

=
QLR E

Question Number : 20 Question Id : 7150533386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
One of the following indicates that children are NOT ready to learn
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Interest in learning
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Showing improvement with practice
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Question Number : 21 Question Id : 7150533387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

To promote ntellectual development among elementary level students, the

school shall arrange for
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appropriate and stimulating environment
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disciplined and controlled environment

vy ¢ O W Ot g
% '\Se-ﬂ.’.—ﬁég-}'j@ S o000 wﬁ 'O c_,'gf'c:"j“&m.,

4.

Question Number : 22 Question Id : 7150533388 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A teacher reinforces her students for their every correct response. The
reinforcement schedule used by the teacher here 1s
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continuous reinforcement
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variable reinforcement
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fixed interval reinforcement
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Question Number : 23 Question Id : 7150533389 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the learning theory that does NOT interpret learning in terms of

mere assoclation between stimulus and response
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Options :

Trial and Error learning
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Operant Conditioning
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Question Number : 24 Question Id : 7150533390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A student who was forcefully admitted into school by his parents started
liking the playful atmosphere of the school. From then onwards, he 1s
attending the school regularly to enjoy the company of friends and teachers.
This Law of Learning of Thorndike explains the behaviour of the student

.-"'_L_ Sy # o -"G\"_':'__L__"!" —_';\ o I v E 3 U _;4;3._
PiTed” aedodorr &3 &dUolleds dodatd ef TP bt

v s { # ___\‘{ {\. r 5 | E a ] & £ o i
SPBEDY DBHT :,\.;é&,a:ra,o Er8o8lomrtd "3:':0]“5_. Do) erden, GarTRdne
A gy B o £, | S S T e S
Serarsol’ wdolio SPoleil Slur Fwed sHaldHdad. whEE g &

—_ J
T, N ) oy Ciad T - E
©g5;08 JaDiho TP GNE) PN nbBdod

Options :

1. %



The Law of Readiness
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The Law of Effect
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The Law of Exercise
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The Law of Multiple Responses
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Question Number : 25 Question Id : 7150533391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

From the following, identify the INCORRECT statement with respect to the

process of conditioning
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It helps in learning desirable behaviour
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It helps in eliminating undesirable habits
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It will develop fears and phobias.
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It does not help in unlearning of unhealthy attitudes
58 HB5ed Bathed Srd B SKos® & &5t

4.9 = *

Question Number : 26 Question Id : 7150533392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A teacher can promote learning new concept among students by following
these aspects:
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A)  emphasizing similarities between current and old concepts
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B)  focussing on application of principles
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C)  presenting the concepts with clarity
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Choose the correct answer:
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B & C only
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Question Number : 27 Question Id : 7150533393 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the aspect that 1s not associated with Roger's Self theory
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Question Number : 28 Question Id : 7150533394 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time :

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The tests that predict that one can excel in a field in future with training are
called

z éﬂ'&P Qmu L
Options :

nterest tests

e

2
od

s
v:-.J"_'I

ll-l :r\

[

O
et

I.I'_f]"-'

£

attitude tests
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N.A Minimum

Question Number : 29 Question Id : 7150533395 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A ten year old child failed to acquire the slkills required in academics and felt
incompetent and unsuccessful. The child 1s in erisis of this Stage of Erikson’s
Psycho-social development
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Options :
Industry Vs Inferiority

1.¢

Initiative Vs Gult

083 Ve @sioedio

Identity Vs Role confusion

1080y Vs o elalalslek

Autonomy Vs Doubt

ot TT. ot o
o ':t-..-':llcu E9oled Vs m@éﬂ?@

Question Number : 30 Question Id : 7150533396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In spite of teacher’s instructions to read language text book. a class X student
reads books relating to mechanics due to passion towards the subject. The

student reading mechanics only indicates this type of motivation
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Language I Telugu

Section Id : 71505399
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22

Number of Questions to be attempted : 22



Section Marks : 30

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053165
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 7150533397 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 7150533398 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 7150533399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 33 Question Id : 7150533400 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 7150533401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 7150533402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 715053166
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 7150533403 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 7150533404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 7150533405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 7150533406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 39 Question Id : 7150533407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 40 Question Id : 7150533408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 715053167
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 7150533409 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 7150533410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 7150533411 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 7150533412 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 45 Question Id : 7150533413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id

: 7150533414 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id

: 7150533415 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 7150533416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

N ey il a
&6 DrrEns ebo
Pl =

L

Options :

0y

| % SraSE
v p2dd

2. "

3 % 8%,



al
ol 1ed
W@ =

Question Number : 49 Question Id : 7150533417 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 50 Question Id : 7150533418 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 7150533419 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 52 Question Id : 7150533420 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 7150533421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 7150533422 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 7150533423 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 7150533424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 7150533425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 7150533426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 7150533427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 7150533428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Id : 7150533429 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

715053100
3

Online
Mandatory
26

26

30

Yes

0

1
715053168
Yes

null



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension

Read the following passage and answer the questions from 61-65. Choose the

correct option for each question.

The irony of the current situation is that India was once considered to be
overeducated. In the seventies. as its economy languished. it seemed to be a country
with too many engineers and Ph.D.s working as clerks in government offices. Once the
Indian business climate loosened up. though. that meant companies could tap a backlog
of hundreds of thousands of eager. skilled workers at their disposal. Unfortunately. the
educational system did not adjust to the new realities. Between 1985 and 1997. the
number of teachers in India actually fell. while the percentage of students enrolled 1n
high school or college rose more slowly than it did i the rest of the world. Even as the
need for skilled workers was mereasing. India was devoting relatively fewer resources

to producing them.

Since the Second World War. the countries that have made successful leaps from
developing to developed status have all poured money. public and private. into
education. South Korea now spends a higher percentage of its national income on
education than nearly any other country in the world. Tatwan had a system of universal
primary education before its phase of hyper-growth began. And. more recently,
Ireland’s economic boom was spurred, i part. by an opening up and expansion of
primary and secondary schools and mereased funding for universities. Education will
be all the more important for India’s well-being: the earlier generation of so-called
Asian Tigers depended heavily on manufacturing, but India’s focus on services and

technology will require a more skilled and educated workforee.

Sub questions

Question Number : 61 Question Id : 7150533430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What 1s the reason for India having too many engineers and Ph.D.s working as

clerks in government offices i 1970°?
Options:

because of its over-aged population
1. %

because of dearth of the educated population

2.

3 ¢ because of its overeducated population
because of its technically skilled population

4, ®

Question Number : 62 Question Id : 7150533431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which statement 1s NOT correct in respect of Indian Education system?
Options :
 Indian Education system adjusted to the new realities.

1.

India was devoting relatively fewer resources to producing the skilled

> % Wworkers.

3 % The number of teachers in India actually fell between 1985 and 1997.



The percentage of students enrolled in high school or college rose more

slowly in India than 1t did in the rest of the world.

Question Number : 63 Question Id : 7150533432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Why have some countries made successful leaps from developing to developed

status after World War II7

Options :

because they have stopped illegal money into education.

1.

because they have spent a higher amount of money on education.
2. %

because they have attracted FDI into education.
4 % because they have closed private educational mstitutions.

Question Number : 64 Question Id : 7150533433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which country now spends a higher percentage of its national income on education

in the world?

Options :



Ireland

Taiwan

India

South Korea

Question Number : 65 Question Id : 7150533434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

On the basis of the passage. what will be required for India’s focus on services and

technology?

Options :

more skilled and educated workforce
1.9

more rich students

. more teachers from the other Asian Tigers

more investment in manufacturing sector

Sub-Section Number : 2

Sub-Section Id : 715053169



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 7150533435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option regarding letter writing.
Options :

You're atfectionately

Your affectionately

Yours affectionately

Your's affectionate

Question Number : 67 Question Id : 7150533436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the grammatically correct sentence.
Options :

The girl child 1s more stronger than the boy child.
1. %



The girl child 1s strong than the boy child.

The girl child 15 stronger then the boy child.

4 The girl child 1s stronger than the boy child.

Question Number : 68 Question Id : 7150533437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The MD and the CEO are up in arms about the proposed new project.

The meaning of the expression “up in arms” 1s

Options :

angry about the proposal
1.4

happy about the proposal
2 %

receptive about the proposal

proactive about the proposal

Question Number : 69 Question Id : 7150533438 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word.
Options :

curiocity
1. %

curiosity
2.

cureosity

4 % curiasity

Question Number : 70 Question Id : 7150533439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Please give me a sachet of shampoo.

Identify the silent consonant sound 1n the word “sachet™

Options :



Question Number : 71 Question Id : 7150533440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option in which the jumbled words are ordered.

that'her parents /the next / She said /would come/day
Options :

She said that her parents would come the next day.
1.9

She said that her parents day would come the next.

2. %

She said her parents that would come the next day.
3. %

She said the next day that her parents would come.
4. %

Question Number : 72 Question Id : 7150533441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The project will have been completed 2026.

Choose the appropriate word to complete the sentence.



Options :

Question Number : 73 Question Id : 7150533442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The book 1s belonging to him.
A B C D
Options:
A
1. %
2. ¥ B
c
3. %
D



Question Number : 74 Question Id : 7150533443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The beggar said to the passengers. “Please help me with some food.”

Choose the appropriate reported sentence.
Options :

The beggar requested the passengers to help them with some food.
1. %

The beggar questioned the passengers to help hum with some food.
2. %

The beggar requested the passengers to help him with some food.
3. %

The beggar told the passengers to help him with some food.

Question Number : 75 Question Id : 7150533444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

I am not a fool to believe your lies,

Choose the correct question tag.
Options:

aren’t I7



am 17
2.

so 17

4. % will I?

Question Number : 76 Question Id : 7150533445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If we finish our work we can go to the movie.

Complete the sentence.
Options :

quicker

> % quick

quickest

uickly
W q i

Question Number : 77 Question Id : 7150533446 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of my childhood friends in Hyderabad since 2015.

Choose the appropriate word to complete the sentence.
Options :
has been living

1.4

5> % has lived

1s living
3. %

_ had been living
4, % ;

Question Number : 78 Question Id : 7150533447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The new government decided to waive the agriculture loans.

Choose the correct option to complete the sentence.
Options :
1 % of

off

about



out

Question Number : 79 Question Id : 7150533448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
“America 15 India’s natural ally.”

Identify the antonym for the word “ally™ in the sentence.
Options :

1. % Companion

parimer
2. %

3 % friend

enemy
4. &

Question Number : 80 Question Id : 7150533449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Look! Somebody us.

Choose the correct option to complete the sentence.

Options:



1s coming

15 approaching

was approached

1s being approached

Question Number : 81 Question Id : 7150533450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly combined sentence.

The train had already left the station. Rajan reached the station.
Options :
Rajan reached the station. later the train had already left the station.

1. %

After Rajan reached the station. the train had already left the station.
2. %

When Rajan reached the station. the train had already left the station.
3.¢

Since Rajan reached the station. the train had already left the station.
4, %



Question Number : 82 Question Id : 7150533451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The school purchased learning devices.

Choose the correct option.

Options :

somne
1.4

much

little

any

Question Number : 83 Question Id : 7150533452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The willagers have constructed the check dam over the stream.

Identify the correct Passive Voice sentence for the given sentence.
Options :

The check dam over the stream have been constructed by the villagers.
1. %



The check dam over the stream has being constructed by the villagers.

The check dam over the stream have been constructed by the villagers.

The check dam over the stream has been constructed by the villagers.
4.v

Question Number : 84 Question Id : 7150533453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Government 1s planning to dig a tunnel through

Choose the correct option to complete the sentence.
Options :

an Aravalis

a Aravalis

the Aravalis

3. %

Aravalis

Question Number : 85 Question Id : 7150533454 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Using different words for the same object in different languages. This 1s because
Options :

language 1s arbitrary.
1.9

language exhibits displacement.

language 1s inherited.

language transmits culture.

Question Number : 86 Question Id : 7150533455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Illegible or poor handwriting and poor spelling are the problems of this specific
language disability.
Options:
Dysgraphia

1.4

5 % Dyspraxia

Dyscalculia



Dyslexia

Question Number : 87 Question Id : 7150533456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
First language 1s learnt from

Options :

classroom with explicit teaching.

environment without any explicit teaching.

online with explicit teaching.

textbook with explicit teaching.

Question Number : 88 Question Id : 7150533457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The ultimate goal of reading 1s to
Options :

help readers read text loudly.
1. %



help readers read text slowly.

2. %

help readers read text quickly.
3. %

help readers comprehend text.
4.

Question Number : 89 Question Id : 7150533458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Etfective language learning takes place when learners are
Options :
silent

1. %

passive
2. %

mnteractive

impractical

Question Number : 90 Question Id : 7150533459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Communicative Language Teaching promotes

Options :

Learner disengagement. collaboration and passive learning

Learner engagement. collaboration and active learning

Learner separation. dissociation and active learning

Learner uncoupling. mdividual and negative learning

Social Studies

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

715053101
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Mandatory
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0

1
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Question Number : 91 Question Id : 7150533460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Ravi 1s travelling from New York to New Delhi. Hence, he

7
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Options :

Loses 4 minutes of time as he crosses every 1011git11d€'

8D & Oyrosed; OB 4 dePe HHaird, 8865 a
1. %

(Gains 4 minutes of tume as he crosses every longitude
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2. %

Neither gains nor loses the time as he crosses every longitude

&) (& OFro ®ed]), L.--Efc‘i"o; D R drad °"G ol SPolt BoF %Tf?'_?;;::-
3. %

Gains 15 minutes of time as he crosses every longitude

& H& Sgromd rBSHD 15 AiPe Sdird, elborr Trothertd
4, %

Question Number : 92 Question Id : 7150533461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The lava which cools under the surface and becomes rocks even without

reaching the surface of the earth, these rocks are called as
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Options :

Intrusive rocks
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1.¢
Extrusive rocks
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2. * o
Sedimentary rocks
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Metamorphic rocks
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Question Number : 93 Question Id : 7150533462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The water concentrated here 15 most easily accessible for human needs and
absolutely vital for the ecosystems
858 0058 &5 A PSS wdired wdos Hegor wothmrind sotron
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Options :

1.



Ice and permanent snow cover in the Antarctica
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The permanent snow in the mountain ranges
2858 Bewod R T8 snoh Hien
2. % )
Fresh Ground Waters
@oeF 0, axeren
3. %
Water concentrated in lakes. reservoirs and in rivers
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Question Number : 94 Question Id : 7150533463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following. the layer of Heterosphere 1=

-

Sob BE° oiFlird sidno (FBEH005 ) Gns; &3

Options :

Troposphere

Stratosphere

ﬁj

P kb0

2. e



3. %

4.+

Mesosphere
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sEE eagites0

Exosphere
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Question Number : 95 Question Id : 7150533464 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements and answer the following
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e

A)

A Canyon 1s characterised by steep side slopes. It 1s wider at its top than

at the bottom.
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A Gorge is almost equal in width at its top as well as its bottom
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Options :

2. %

3.¢

Statement ‘A ‘1s correct but ‘B’ 13 incorrect

o5 ‘A’ 5356 = ‘B’ 565

a2sh

Statement ‘A ‘1s incorrect but ‘B’ 18 correct
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Statement ‘A ‘and ‘B’ are correct
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Statement ‘A ‘and ‘B’ are incorrect
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Question Number : 96 Question Id : 7150533465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Between the latitudes 40° and 609 N and § of the equator, the rainfall 1s
heavy on the west coast and decreases towards the east due to
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Options:

The Westerlies

1 & 2830 HdTren
Trade winds
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2. % G

Monsoon winds
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The Polar High Pressure Winds

Question Number : 97 Question Id : 7150533466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This type of farming is labour mtensive where high doses of biochemical mputs
and 1rrigation are used for obtaining higher production
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Options :

Simple subsistence farming
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Commercial farming
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Intensive subsistence farming
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Mixed farming
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Question Number : 98 Question Id : 7150533467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The two main factors for the location of the Aluminium Smelting Industry are

o
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Options :

Regular Supply of water and availability of cheap labour
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1. %
Regular supply of electricity and continuous availability of labour
cheaply
Biho S0 Dy STHTe 0B #5 S5% Wdodlo efioT 528 %en
2. #
An assured source of raw material at minimum cost and regular supply of
water
505 388 ©od SnBH%E Gng) Fd HH80Mn Eho $:33 S S0
3. %
Regular supply of electricity and an assured source of raw material at
minimum cost
Baho S50 Dhyd HBHT Hbdn 55 JO8° eflod swEShE Gng) Pk
4.

Question Number : 99 Question Id : 7150533468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The Shiwalik Ranges run parallel to the lesser Himalayas for a distance of
2400 km from

D5 Fewen Dy Sriredire® Sirostorr 2400 8.8 e8Pl D8d; ardod)

Options:

Pir Panjal Range and Zaskar Range
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95 soerd Do %60 25,5 Cos

o
1. %
The Potwar Plateau and the Brahmaputra Valley
e HerSh HBd @pirE S50
2. ¢
Jammu & Kashmir and Nagalan
J & Kasl d Nagaland
Z _
essiry & =048,6 HBchH Trrrerol
3. %
Dehradun in Uttaranchal and Brahmaputra Valley
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4. %

Question Number : 100 Question Id : 7150533469 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statement from among the following
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Options :



Shimla is cooler than Delhi and Panaji as 1t 1s located at higher altitude
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1. ¢
Shimla is hotter than Delhi and Panaji as it 1s located at higher altitude
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2. %
Shimla, Delhi and Panaji experience same temperatures even though
they are located at different altitudes
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3. %
There 1s no impact of Altitude on temperature
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4. %

Question Number : 101 Question Id : 7150533470 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This information i1s an important social indicator to measure the extent of

equality between men and women n a soclety
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Options :

Growth Rate of Population
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Literacy rate

Fertility rate

3 % OB E)é Otn

Sex Ratio

Dolf Vi

Question Number : 102 Question Id : 7150533471 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following is NOT the characteristic feature of Peninsular rivers
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Options :

they have fixed course
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largely perennial
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Question Number : 103 Question Id : 7150533472 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In India, these soils cover about 45.6% of the total geographical area of the

country
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Options :

Red Soils
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Black Soils
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Alluvial Soils
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Question Number : 104 Question Id : 7150533473 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On these two days. the Sun shine directly over the equator
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Options :

June 21 and December 22

= o A )
ey 21 s08din Emoab 22

1. %
March 21 and December 22
. 58y, 21 $0805n &Roab 22
June 21 and September 2:
a5 21 HH8cn Daoab 23
3. -
March 21 and September 23
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Question Number : 105 Question Id : 7150533474 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, the finest iron ore with a very high content of iron
18
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Options :

Magnetite

L 28
c;"ll'-?uw

1. %

Hemartite

Limgoptite
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3. %

Siderite

Question Number : 106 Question Id : 7150533475 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fixation of minimum support price is based on the recommendations of
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Options :

Commaission for agrmulture costs and prices
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Food corporation of India
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Indian costs and works association
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Farmers Associations of India
%A% 0& Hoano
4. % - *

Question Number : 107 Question Id : 7150533476 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange ‘the stages of manufacturing paper’ in a proper sequence
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A)  Making wood pulp
ez Bairh Dabdo
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g e
B) Chipping
8 80 Z69%0

C) Pressing, drying and rolling
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D) Spreading pulp

tDered 2880

E) Cutting the paper
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ChﬂDSE‘ the correct answer
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A B CDE
2. %
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Question Number : 108 Question Id : 7150533477 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IFSC and internet do not need for the following digital payments
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Bof 26 BDode 5550 IFSC 58050 mot85 Arsoeen @380 82th
3

Options :

. » RTGS

NEFT

Question Number : 109 Question Id : 7150533478 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A change in the price 1s measured with the help of a statistical device referred
as

S8eE® 578y 8od Do drdo
Options :
Inflation
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,CJ-:\.I SENERD

1 % 2

Price index

> &0 Hed)s
Margin price
51:'-@5 falel

3. % -
Growth
516

4.% °°

Question Number : 110 Question Id : 7150533479 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Inorder to obtain Gross Domestic Product. the following has to be subtracted

from Gross National Product
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Options :
Net income from abroad

1.+

Depreciation

g SHhde

Indirect taxes

e A

HE°Y Hdnen
3. % '
Subzidy
caE) (‘t

4. %

Question Number : 111 Question Id : 7150533480 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following can be considered as chronic energy deficiency

£
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Options:

BMI < 18.5
1.4

BMI between 18.5 and 25



BMI > 25
%
BMI = 20
4. %

Question Number : 112 Question Id : 7150533481 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Removing of trade barriers or restrictions set by the government 1z known as
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Options :

Globalisation

;&ﬁoﬂéiﬁ
1. %
Liberalization
otelil=te )
2.
Privatisation
E_E 58 es
3. %

Socialization
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Question Number : 113 Question Id : 7150533482 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The main force behind Chipko movement was

2]
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Options:

(Greenpeace prganization
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1. ®
Tribal people
 ADan mesen
2 %®
Village women
iPabes svarden
3.¢v °
Contractors
SPoRFESD
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Question Number : 114 Question Id : 7150533483 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following is NOT a service sector activity

Eob a8 Dar Bollo i Berdo SRR

Options :



Milk vending

_— Pl dSonoititio

Mining extraction

[

Pelerea aoddhdo
2.

Garden watchmen

=L roemod” Dat e Etard
3. %

Vegetable zelling
4% Erdrrdies @fylo

Question Number : 115 Question Id : 7150533484 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Magasthenes, an ambassador of a Greek King. was in the court of

[
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Options:

Bimbisara
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Sodard

Chandragupta Maurva
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Ashoka

3 % 08%5H

Bindusara
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Slothard
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Question Number : 116 Question Id : 7150533485 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

This mseription had provided the details of the way m which the Sabha was
organised during Cholas

5 — b Tor Al . ¢ B L oh __m R 3 LY S - .
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Options :

Uttaramerur Inseription

&ETDHEFS FHHo

1. —
Allahabad Inscription
@eBerd Fembo

2. ®
Junagadh Rock Inscription
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3. %

Nasik Inseription
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Question Number : 117 Question Id : 7150533486 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The Mahajanapadhas which were NOT in India at present

o, gristgos® 82 Hfedhoren
Options:

Magadha. Anga

8, ®of

Vatsa, Kosala

L.
LT
A

L
2068,

o

Kamboja. Gandhara

oood e, Mol

I

3.¢
Magadha, Asmaka
RS, s
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Question Number : 118 Question Id : 7150533487 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Shantamula and Virapurushadatta were the important kings of this dynasty
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Chola Dynasty

e rasdodo

1. %
Mauryan Dynasty
$°0; Tresdodo
2. #
Satavahana Dynasty
3 % TErarn Tresdlod o
Tkashavaku Dynasty
4 8575 Pakodo

Question Number : 119 Question Id : 7150533488 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On 6 April, 1930 Mahatma Gandhi reached Dandi and picked up a handful

salt and broke the salt law as a symbol of
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Options:

the Indian people’'s refusal to live under the British made laws and

therefore under the British rule
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the Indian people’s willingness to live under the British made laws and

therefore under the British rule
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2. %
the Indian people’s willingness to live under the British made laws with
some modifications to self-rule
FB8ad Pewn QOR Fodd Foho el ) I8nes THS Seros
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3. %
the Indian people’s willingness to live under the British made laws with
the participation of the members of the INC 1n mal;ing laws
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Question Number : 120 Question Id : 7150533489 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In 1789, the Government of the United States of America adopted
Republican Constitution. Which means
1789¢°, ebs Hoang oapen 83888 Tramorrd) sarBotlod. 8HEES Traroiio

&

B

Options :

1.4



The United States would not be ruled by the kings but by the
representatives elected by the people
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P8Ihed rdodathéod
The United States would be ruled by the Kings with limited powers
2050 RHodng Traren 00 VT TeE” Trored ardodathiod
S ni
2. #
The United States would not be ruled by the kings but by the
representatives nominated by the states
385 HoCnE Teafen Trered SrDodadth, B0 Taped RS Dehads He
3 L C
280G ardodathioh
3. %
The United States would not be ruled by the kings but by the
representatives nominated by Kings
o = r
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Question Number : 121 Question Id : 7150533490 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In the 18t Century, the Second Estate of the French Society was ‘Nobility’,

which includes

188 d87moé®, pob Siireio 6% Goks H8o HDY $Yo’, 50thE" &oth T8

Options :



Clergy and Aristocratic Class

2 [ g £ _,_/__ o .7 ik
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Aristoeratic and Bureaucratic Class
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Merchants and Bureaucratic Class
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Question Number : 122 Question Id : 7150533491 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During Kakativa period. Nayankara System was prevalent during the reign of

Wl Sl T S T A X e S i R
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Options :

Ganapati Deva and Rudra Deva

tiesaddd Qa3 sHBdim B TStd
1. %

Mahadeva and Ganapati Deva
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Prolaraja I and Mahadeva

[aggic o o s PP L Ao wl
Fegrer [ 200050 205F8585

Rudramadevi and Prataparudra II
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Question Number : 123 Question Id : 7150533492 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the enactment of this Act. any person who was suspected by the police
of being a terrorist could be arrested and kept in prison without any trial
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Options:

The Rowlett Act, 1019
Peé5 S 360 o, 1919

1.¢
The Regulating Act, 1773
& BrogBdoR $ko, 1773

2. %
The Charter Act, 1793
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The Minto-Morely Reforms, 1909
& ot Irb o) Beeen, 1909
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Question Number : 124 Question Id : 7150533493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In march 1946, the British Cabinet sent a three-member mission to new Delhi

to examine the demand of

“ £ g 35y omed £ X T o) i S
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Options :

to suggest a suitable economic framework for the economic development

of India
ePOSBOE F,Q?i-é-;}@é HAD &%é meRfE Srdodito BU%
1. % ) )
to suggest the demand of Separate Pakistan and to suggest a suitable
political framework for a free India
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2.
to suggest the demand of separate Bangladesh
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to request the Indian National Congress to provide support for solving the
1ssue of separate Pakistan
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Question Number : 125 Question Id : 7150533494 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This was considered as the currency of the Hyderabad State

808 PBS°, B8 Iritrears D5 58Iy H6KBoSnlod
Options :

Besant

Fals 'EL_T
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Sri Ahita Gajakesari
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Osmania Sikka
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Dinars and Rupaka
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Question Number : 126 Question Id : 7150533495 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Britain was the first country to experience modern Industrialisation because of

having

5
I
I'I

shns <1T6| T 35 508D @0t Snied

A)  Political Stability and Unified market
mrasdch H8&0 B0 D858 5 0y

B) growing towns in area and population
&?'_u;_ﬁc 58060 arged ifijfté};‘éclaﬁégs&’*m

C) good network of rivers and an indented coastline with sheltered bays for
the movement of goods

) SORAK Kthen 5B Hhde 8800 58450 engre GRS &5arodo

D) a very good financial system to establish and mamtain big industrial

enterprises
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A& Conly
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B & C only

B & C sm@ab
2. ®

C & D mll:r.'
C & D&rgad



ABC&D
4.

Question Number : 127 Question Id : 7150533496 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement

u:\.,ig‘f} Peded h..'g"r"{, {:"'R

Options :

The Constitution was adopted by the Constituent Assembly (CA) on
26t November, 1949 and it came into force on 26 January, 1950.
errolt ¢S (CA) 26 $5028, 1949 & teeriord)) eardodod. 8 26 3858,

1950 & ose é'“&ai?
1.4

The Constitution was adopted by the Constituent Assembly (CA) on
26t November, 1949 and it came into force on 26t November, 1050.
orersoli 28 (CA) 26 $domb, 19498 rerrored)) sirbodlod. 86 26 JHowd,

.
05 @ihend™s 59,08,

195

2. %
The Constitution was adopted by the Constituent Assembly (CA) on
26 January, 1949 and it came into force on EﬁthJ::Lnuar:r. 1950.
ool 2¢5 (CA)26 2558, 19498 orerjorrdwairBodod. 26 2558,
1950% efoend®d $0,08

3. %
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The Constitution was adopted by the Constituent Assembly (CA) on
26t January, 1949 and it came into force on 26" November, 1950.
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Question Number : 128 Question Id : 7150533497 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The court orders that the arrested person should be presented before it. This
writ 18
@8 3N %80 8 dnoth Fetidired sG8on 66
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Options :

Habeas corpus
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1. ¢
Mandamus
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o P 00302000
2. ®
Prohibition
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Quo Warranto
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Question Number : 129 Question Id : 7150533498 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement about the Election Commissioners’ tenure

DBe EWHIT B0 HBOD KBS A KBV

Options :
Election Commissioners are appointed for a six-year term or continue till

the age of 635, whichever is earler.

wihBe 5adbed «tf serds Adhard Sme 65 Of HiH FATFNEH, 08

1.¢
Election Commissioners are appointed for a five-year term or continue
till the age of 65, whichever 1s earher.
e E5Ekbodh oty el AdHDFH S 65 Y H8% FEFHED, 28
Snode @b,

2. # =
Election Commissioners are appointed for a six-year term or continue till
the age of 62, whichever is earlier.
ade 5R30H «lY erds Johrd S 62 of HiH FHFiHeDH, 26
S0 JEE &6

3.8 7

Election Commissioners are appointed for a five —year term or continue
t1ll the age of 62. whichever is earlier.
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Question Number : 130 Question Id : 7150533499 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The restriction on the number of the members of the Council of Ministers shall

not exceed

h o o -l B Y e SN - MR OV R 0
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Options:

15 percent of the total strength of the Lok Sabha or Assembly

P Edel Bire _'“ﬁruﬂ sndo meod” 15 &
1.4
10 percent of the total strength of the Lok Sabha or Assembly
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&°5:08 Sor ol dudo awod” 10 FEc
2. #® B
12 percent of the total strength of the Lok Sabha or Assembly
5585 B ®Roz) dndo oo o0&t 12 Todo
3. % B
20 percent of the total strength of the Lok Sabha or Assembly
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Question Number : 131 Question Id : 7150533500 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rajya Sabha is dissolved once in
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Options :

3 years
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6 vears
. 6 noHETren
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5 years
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It diszolved
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Question Number : 132 Question Id : 7150533501 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S6theonstitutional amendment Act, 2002 is about

8655 Trerrof il Héo, 2002 538 Hozoboldd

mer

Options :

The voting age was decreased from 21 to 18 for both Lok Sabha and
Legislative Assemblies elections
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Panchayati Raj institutions were given constitutional status.
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Question Number : 133 Question Id : 7150533502 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

The women’'s reservation bill which reserves one-third of all seats for

women in Lok Sabha, State legislative assemblies
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Elementary Education was made a fundamental right-Free and
compulsory education to children between 6 and 14 years
JOFoed Dy RHE Py dhaltod- 6 Dok 14 Joddore HE; HeoH
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Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following 13 NOT1n the State List under the constitution of India
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Fisheries
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Agriculture
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Question Number : 134 Question Id : 7150533503 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The following one is elected indirectly
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Options :

Sarpanch of Grama Panchayath
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Councilor of the Municipality

)
el
ot

I
G
oy

el

T
e o™ el

o
I

Chairman of the Zilla Parishad

Ward Member of Grama Panchavath
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Question Number : 135 Question Id : 7150533504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

United Nations Day 1s celebrated on
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Options :
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Question Number : 136 Question Id : 7150533505 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Panchayati Raj system was first introduced in this state
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Options :

Tamil Nadu
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EKerala

s5¢

Rajasthan

Uttar Pradesh
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Question Number : 137 Question Id : 7150533506 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This government has two or more levels
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Options :

Federal Government
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Unitary Government
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Coalition Government
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Question Number : 138 Question Id : 7150533507 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Permanent Secretariate of SAARC 1s located at
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Options :

New Delhi, India
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1. %
Dhaka. Bangladesh
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Kathmandu, Nepal
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Colombo. Sri Lanka
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Question Number : 139 Question Id : 7150533508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By teaching geography. the teacher can develop these skills among learners

PEYE oD 5'Boihe T &ITROMD, WirHbed® & Fered BoPodo
B,
A) Map

2630

B) Observational
HB80%

C) Field Study
28 o003

D) Time perspective

Choose the correct answer:
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Options :

A B& Conly
A, B & C smesad

A, C& Donly
A C & DirEd

B. C & D only
B.C & D srs

4.$A,B.C&D



Question Number : 140 Question Id : 7150533509 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Industries. Radio stations, Airports. Railways, ete. belong to these resources.
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Question Number : 141 Question Id : 7150533510 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following strategies. which one 1s more useful to the teacher to
explain the concept of “Child labour and its consequences” — in the classroom.
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Options :

Discussion
el
1 “f L_-.‘_,:'_”
Observation
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Supervising study
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Team work
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Question Number : 142 Question Id : 7150533511 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By conducting the Parent — Teacher Association meetings at school to discuss

an academic 1ssue, the teacher has -
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Options :

taken the school to community
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taken the community to school
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conducted the school camps
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collected donations from secondary sources
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Question Number : 143 Question Id : 7150533512 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In this evaluation, the teacher can measure the learning outcomes of the

student at the end of the course.
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Diagnostic

Question Number : 144 Question Id : 7150533513 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Continuous Comprehensive Evaluation (CCE). the teacher can
conduct the following activity without prior intimation to the students in the

classroom.

Options :

Project work
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Slip test
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Question Number : 145 Question Id : 7150533514 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The book. “The ideal of Justice”, was the contribution of this social scientist.
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Options :

Amarthva Sen
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Max Weber
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Karl Marx
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Question Number : 146 Question Id : 7150533515 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



By teaching the life histories of the social scientists, Freedom fighters and
social reformers, the social studies teacher can develop mainly these values

among students.
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Psychological

Cultural
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Question Number : 147 Question Id : 7150533516 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The present social studies text books in Telangana state are developed

according to the basic guide lines of the following
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D) NCFTE - 2010
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Chﬂ{}SE the cOrrect answer:
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Options :

AB& C Dlﬂ}'
A B & Cirgad

B. C &: D 01115'
B. C & D s5ir@a

A.C & Donly

A, C & D sres
3. %

4V AB.C&D

Question Number : 148 Question Id : 7150533517 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the WRONG statement regarding social studies teaching methods.
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Options :

Inductive method — Involves with drawing generalisations
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Narration method — Involves with child centric approach
SErEEN H08 — Jued SopE 8 DU & 4rf soénod
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Project method — Involves with natural environment
SPED D08 — Sire HBITreE” S8 Sotnod
3. % aml Il
Problem solving method — Involves with deductive approach
Rasaly — H0al0 DRSS — Aishard,E 85,0 594 Gotnobd
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Question Number : 149 Question Id : 7150533518 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following maps are more useful to the teacher to explain about the
concepts of mountains, plateaus, deserts and valley to class — 9 students.
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Relief maps
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Political maps

Out line maps

2 £ ) e -
. 5 — o S — T i i
Sl OFF i c__-,a E EST=hhy

Thematic maps
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Question Number : 150 Question Id : 7150533519 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the items given in List — A with the items given under List — B,

regarding learning objectives.
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List—A List—B
slee- A - B
A)  Application 1)  Decision taking on huge usage of internet
B 0HBoHE 5066 38 dHbEorr ko Agaso 5850
B) Evaluating 1) Following traffic rules while tr:lve]ling
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C) Creating m) Knowing logical relations among things
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D) Analysing iv) Generating new ideas
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Choosze the correct answer:
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